

Ορισμός: Λέμε ότι οι συναρτήσεις $f: A \rightarrow \mathbb{R}$, $g: B \rightarrow \mathbb{R}$ είναι ίσες

\Leftrightarrow 1) $A = B$

2) $f(x) = g(x) \quad \forall x \in A$

ασκ. 9.: $f(x) = \frac{x^2 + 2|x| + 1}{x^2 - 1}$, $g(x) = \frac{|x| + 1}{|x| - 1}$

Βρίσκω το π.ο. της f .

Πρέπει $x^2 - 1 \neq 0 \Leftrightarrow x \neq \pm 1$

Άρα $D_f = \mathbb{R} - \{\pm 1\}$

Βρίσκω το π.ο. της g

Πρέπει $|x| - 1 \neq 0 \Leftrightarrow |x| \neq 1 \Leftrightarrow x \neq \pm 1$

Άρα $D_g = \mathbb{R} - \{\pm 1\}$ Άρα είναι $D_f = D_g$

Τώρα: $f(x) = \frac{x^2 + 2|x| + 1}{x^2 - 1} = \frac{|x|^2 + 2|x| + 1}{|x|^2 - 1} = \frac{(|x| + 1)^2}{(|x| + 1)(|x| - 1)} = \frac{|x| + 1}{|x| - 1} = g(x)$

Άρα $f = g$

αβ.10 $g^2(x) - 2x \cdot g(x) = 1 - x^2 \quad \forall x \in \mathbb{R} \Leftrightarrow$

$$g^2(x) - 2x \cdot g(x) + x^2 = 1 \quad \forall x \in \mathbb{R} \Leftrightarrow$$

$$(g(x) - x)^2 = 1 \quad \forall x \in \mathbb{R}$$

Από το C_g είναι πάνω από το $y=x \rightarrow$

$$g(x) - x > 0 \text{ ή } g(x) - x < 0$$

$$\Rightarrow g(x) - x = 1 \Leftrightarrow g(x) = x + 1$$

(2) $g(x) - x = 1 \quad \forall x \in \mathbb{R}$ ή $g(x) - x = -1 \quad \forall x \in \mathbb{R}$ (3)

από το C_g πάνω από το $y=x$

$$\Rightarrow g(x) > x \Leftrightarrow g(x) - x > 0$$

Από άνω το (3)

$$\Rightarrow g(x) = x + 1 \quad \forall x \in \mathbb{R}$$

Αν $f^2(x) = g^2(x) \quad \forall x \in \mathbb{R} \xrightarrow{(?)} f(x) = g(x) \quad \forall x \in \mathbb{R}$ ή $f(x) = -g(x) \quad \forall x \in \mathbb{R}$
 SOS - Αξίως!

Π.Χ. $f^2(x) = 1 \quad \forall x \in \mathbb{R}$

- 1) $f(x) = 1 \quad \forall x \in \mathbb{R}$
- 2) $f(x) = -1, \quad \forall x \in \mathbb{R}$
- 3) $f(x) = \begin{cases} 1, & x \geq 0 \\ -1, & x < 0 \end{cases}$
- 4) $f(x) = \begin{cases} 1, & x \geq 1 \\ -1, & x < 1 \end{cases}$

$$f(x) \cdot g(x) \neq 0 \quad \forall x \in \mathbb{R} \implies f(x) \neq 0 \quad \forall x \in \mathbb{R} \text{ kan } g(x) \neq 0 \quad \forall x \in \mathbb{R}$$

16.8 $f(x) \leq x$ (1) $\forall x \in \mathbb{R}$. $f(x) + f(-x) \geq 0$ (2) $\forall x \in \mathbb{R}$ N.B.O. $f(x) = x, \forall x \in \mathbb{R}$

(2) $\implies f(x) \geq -f(-x)$ $\left\{ \implies f(x) \geq x \quad \forall x \in \mathbb{R} \right\} \implies f(x) = x$

(1) $x \rightarrow -x \implies f(-x) \leq -x \implies -f(-x) \geq x$ $\left\{ \text{dov (1) } \implies f(x) \leq x \quad \forall x \in \mathbb{R} \right\} \implies f(x) = x$

Av $f^2(x) = g^2(x) \quad \forall x \in \mathbb{R} \xrightarrow{(?)} f(x) = g(x) \quad \forall x \in \mathbb{R}$ m $f(x) = -g(x) \quad \forall x \in \mathbb{R}$
 SOS - $\Lambda \Delta \nabla \text{os!}$

$f^2(x) + g^2(x) = 0 \quad \forall x \in \mathbb{R} \implies f(x) = 0 \quad \forall x \in \mathbb{R}$ kan $g(x) = 0 \quad \forall x \in \mathbb{R}$

$f(x) \cdot g(x) = 0 \quad \forall x \in \mathbb{R} \implies f(x) = 0 \quad \forall x \in \mathbb{R}$ m $g(x) = 0 \quad \forall x \in \mathbb{R}$

$$f(x) = \begin{cases} 3, & x > 0 \\ 0, & x \leq 0 \end{cases} \quad g(x) = \begin{cases} 0, & x > 0 \\ 4, & x \leq 0 \end{cases}$$